

FINESSE & **CLARITY** PERSONIFIED ACCUMAX PETRI **PLATES**

ACCUMAX

ACCUMAX PETRI PLATES

Accumax produces high-quality Petri dish which is manufactured under strict aseptic conditions with USP class VI complaint polystyrene.

Designed specifically for microbiology applications. With a 90 mm diameter, they are perfect for use in automated plate filing systems. Vented and non-vented variants are available.

Vented dishes feature an elevated lid, promoting excellent gas exchange and evaporation. This design allows for optimal conditions for growth and incubation. On the other hand, non-vented dishes have a flat lid that prevents evaporation, encouraging a longer incubation period and facilitating anaerobic applications.







Product Features



Manufactured with USFDA 21 CFR compliant polystyrene

Petri plates with 90 mm diameter





One compartment with both vented and non vented options

> Produced in Class 10K clean rooms





Fully automated manufacturing and packaging

Raw materials are compliant with ISO 1133 & 306 guidelines





Endotoxin/Pyrogen free

Sterility Assurance level of Sterile plates is 10⁻⁶ and that of Aseptic plates is 10⁻³ SAL





Product Features



Fully stackable with raised ridge and optimally clear petri plate

Petri plates with excellent mechanical and heat resistance properties





Two Packaging options: 10 plates/ bag & 20 pla tes/ bag

Lot number, Sterility & expiration traceability in bag packaging



Q	

These Raised Ridge plates are designed for easy stacking by hand. They stack high and stay stacked without slipping, sliding, or scratching.

> These plates are fully compatible with medium throughput carousel based media preparation systems.



Ordering Information

Petri Plates						
Cat No.	Product Description	Packing Type	Quantity / bag	Quantity bag / Case	Total Quantity per Case	
AP-90V-10	Petriplates 90 mm diameter, Vented, Aseptic, Raised Ridge	Bulk	10	50	500	
AP-90NV-10	Petriplates 90 mm diameter, Non Vented, Aseptic, Raised Ridge	Bulk	10	50	500	
AP-90V-20	Petriplates 90 mm diameter, Vented, Aseptic, Raised Ridge	Bulk	20	25	500	
AP-90NV-20	Petriplates 90 mm diameter, Non Vented, Aseptic, Raised Ridge	Bulk	20	25	500	
AP-90V-10-S	Petriplates 90 mm diameter, Stack Size 10, Vented, Sterile, Raised Ridge	Bulk	10	50	500	
AP-90NV-10-S	Petriplates 90 mm diameter, Stack Size 10, Non Vented, Sterile, Raised Ridge	Bulk	10	50	500	
AP-90V-20-S	Petriplates 90 mm diameter, Stack Size 20, Vented, Sterile, Raised Ridge	Bulk	20	25	500	
AP-90NV-20-S	Petriplates 90 mm diameter, Stack Size 20, Non Vented, Sterile, Raised Ridge	Bulk	20	25	500	



Accumax Lab Devices Pvt. Ltd. www.accumaximum.com **CE** ISO 9001:2015 ISO 13485:2016

*We also execute OEM projects. Specifications can be changed without notice for quality improvement.